B 1)

B B R B X (B AR AN AR )
ERVEiEs 53 fif] 4% 2 v SR 4 H R R T¥ (K B
5 Y 142 2 4 34F
SR vE | wm | o | B pE | mR | L
= [ERE O 4 3 3
BB 4 2 2 4
— RS A 2 2 2
H B A 2 2 2
N R OBRES 2 2 2
Q= 3 3 3
| 4 4 4
o = ;ﬁ :ﬁ I 5 4 0-4
g %A 2 1 1
72 % B 2 25 0-2
i seECE L | - 2 J 0-2
i Bl ABAE 2 2 2
7 o | PER | 2 2 2
g oo B | 4 3 0-3
bk {5 2 3 J 0:3
H h & |7~8] 2 2 7
B | REEE | R 2 1 1 2
Moa—2AK—| — 2 0-2
g HF oI 2 2 2
- 2 2 0-2
aap-vavsEEL| 3 3 3
P4 NEE I ERPEVECEVE 3 | f L 3 2 5
JEFER YL 1 2 2 0:2
x| FELE 2 2 2
i | HERoRF 2 T LTI 2 BAL TR
E TEA RS 2~6| 3 5
1% IR | 2~6 3 3
ﬁ % F [2~16 3 3 6
;‘ e 2~12 2 2 2 6
}: THHRHEAT I 2~6 2 2
o T | HmE | 2~8 1 2 3
B PR 7 2~8 2 3 5
;L FBRE | 2~ 2 2
;‘Z HEIRE L5 | 2~8 2 0-2
ﬁ BRI |2~10] 2 2
; TEME | 2~6 2 0-2
Alzx  E| 7794 | 2~6 2 0-2
BHF - BB OBRAEGE! - 29 29 29 87
[ wawmakEEomrsm 1 [a~6 FRABHISE 3 AL CHRA
A o— AL — AE ) 3 1 1 1 3

EL RENTARGR SR E
W2 TRE 7R ORR ) 1%, FEHMER % 175045 (5047 X 35[R]) & 1HAL & U CHUE L 7= AT H0A Fo ik




B 1)

B B R B X (B0 2 4R AR )
ERVEiEs 53 AN S S 5 4 H R R T¥ (K B
w oy 142 2 4 34
S A Eﬁg P T R p Ry e R fi “
= ERER A 4 3 3
BB 4 2 2 4
— RS A 2 2 2
H B A 2 2 2
N R OBRES 2 2 2
= | 3 3 3
| 4 4 4
o = ;ﬁ :ﬁ I 5 4 0-4
g %A 2 1 1
72 % B 2 25 0-2
i seECE L | - 2 J 0-2
i Bl ABAE 2 2 2
7 o | PER | 2 2 2
g oo B | 4 3 0-3
bk {5 2 3 J 0:3
H h & |7~8] 2 2 7
B | REEE | R 2 1 1 2
Moa—2AK—| — 2 0-2
g HF oI 2 2 2
- 2 2 0-2
aap-vavsEEL| 3 3 3
P4 NEE I ERPEVECEVE 3 | f L 3 2 5
JEFER YL 1 2 2 0:2
x| FELE 2 2 2
i | HERoRF 2 T LTI 2 BAL TR
E TEA RS 2~6| 3 5
1% IR | 2~6 3 3
ﬁ £ B |2~16 3 3 6
;‘ e 2~12 2 2 2 6
}: THHRHEAT I 2~6 2 2
o T | HmE | 2~8 1 2 3
B PR 7 2~8 2 3 5
;L FBRE | 2~ 2 2
;‘Z HEIRE L5 | 2~8 2 0-2
ﬁ BRI |2~10[ 2 2
; TEME | 2~6 2 0-2
Alzx  E| 7794 | 2~6 2 0-2
BHF - BB OBRAEGE! - 29 29 29 87
[ wawmakEEomrsm 1 [a~6 FRABHISE 3 AL CHRA
A o— AL — AE ) 3 1 1 1 3

EL RENTARGR SR E
W2 TRE 7R ORR ) 1%, FEHMER % 175045 (5047 X 35[R]) & 1HAL & U CHUE L 7= AT H0A Fo ik




B 1)

B B R B X (B0 3 AR AR )
ERVEiEs 53 AN S S 5 4 H R R T¥ (K B
w oy 142 2 4 34
S A Eﬁg P T R p Ry e R fi “
= ERER A 4 3 3
BB 4 2 2 4
— RS A 2 2 2
H B A 2 2 2
N R OBRES 2 2 2
= | 3 3 3
| 4 4 4
o = ;ﬁ :ﬁ I 5 4 0-4
g %A 2 1 1
72 % B 2 25 0-2
i seECE L | - 2 J 0-2
i Bl ABAE 2 2 2
7 o | PER | 2 2 2
g oo B | 4 3 0-3
bk {5 2 3 J 0:3
H h & |7~8] 2 2 7
B | REEE | R 2 1 1 2
Moa—2AK—| — 2 0-2
g HF oI 2 2 2
- 2 2 0-2
aap-vavsEEL| 3 3 3
P4 NEE I ERPEVECEVE 3 | f L 3 2 5
JEFER YL 1 2 2 0:2
x| FELE 2 2 2
i | HERoRF 2 T LTI 2 BAL TR
E TEA RS 2~6| 3 5
1% IR | 2~6 3 3
ﬁ £ B |2~16 3 3 6
;‘ e 2~12 2 2 2 6
}: THHRHEAT I 2~6 2 2
o T | HmE | 2~8 1 2 3
B PR 7 2~8 2 3 5
;L FBRE | 2~ 2 2
;‘Z HEIRE L5 | 2~8 2 0-2
ﬁ BRI |2~10[ 2 2
; TEME | 2~6 2 0-2
Alzx  E| 7794 | 2~6 2 0-2
BHF - BB OBRAEGE! - 29 29 29 87
[ wawmakEEomrsm 1 [a~6 FRABHISE 3 AL CHRA
A o— AL — AE ) 3 1 1 1 3

EL RENTARGR SR E
W2 TRE 7R ORR ) 1%, FEHMER % 175045 (5047 X 35[R]) & 1HAL & U CHUE L 7= AT H0A Fo ik




